
 ࠯࠰ࠄࠎ࡮ࡶ ࠮࠰߾ࠐ࠲࠯ࠤࠛࠤࠕࠛ࠯࠰߾߻࠲ࠛ ࠤ࠘ࠩ࠯ࠣࠏ (࠶࠶) ߺࠧࠥ࠯ࠣࠏ (࠺) ࠤ࡜ࡵ߻

 

 ࡀ࠰ࠄࠓࠕ࡮ࡶࠪ࠳ࠊ࠰߿ࠊ ࠰ࠎ࡞ࠏࠫࡋ߿ࠏ ࠰ࠊ߼ࠤࠎࠛ ,࠰ࠊࠥࠊࠛ = ࠮࠰߾ࠐ࠲࠯ࠤࠛࠖࠤߺ

 

 ࡀ࠰ࠄࠓࠕ࡮ࡶࠪ ࠳ࠊ࠰߿ࠊ ࡜ࠌࠥ࠙ࠑ ,ࡗࠊ࠱ࡋࠁࠛ = ࠮࠰߾ࠐ࠲࠯ࠤࠛ࠰ࠎࠤࡗࡵ࠘

 ࡀ࠰ࠄࠓࠕ࡮ࡶࠪ࠳ࠊ࠰߿ࠊ ࠓࠧ߻ࠧ࠘ ,ߺࠥࠕࠤࠚ࠘ࡤ

 ࡀ࠰ࠏࠧࡶࠤ࠘ࠩ࠯ࠤ࠴ࠕ࠰߾ࠋ࠰߾࠳ࠖࡅࠏࠩ�ࠣ߻ࠛࠤ࠘ࠩ࠰߾߻࠲࠰߾ࠀ࡮ࡶ࠮࠰ࠄߺࡤ ࠮࠰߾ࠐ࠲ࠥ߿࠰ߺ࠱ࠓ࠰ࠉࠤࠃ =ߺࠥࠕࠤࠚ࠘ࡤ

 ࡀ࠰ࠏࠧࡶࠤ࠘ࠩ࠯ࠤ࠴ࠕ࠰߾ࠋࠓ ࠰߾࠳ࠖࡅࠏࠩࠓ ࠣ߻ࠛࠤ࠘ࠩ࠰߾߻࠲࠰߾ࠀ࡮ࡶ࠮࠰ࠄߺࡤ ࠮࠰߾ࠐ࠲ࠥ߿࠰ߺ࠱ࠓ࠰ࠉࠤࠃ  = ࠓࠧ߻ࠧ࠘

 

 

ࠫࠥࡈ߼ࠏࠧ  ࡀ࠰ࠄࠓࠕ࡮ࡶ ࠪ࠳ࠊ࠰߿ࠊ ࠊࠦࠉࠏ ,ࠎࠦ࠙ = ࠮࠰߾ࠐ࠲࠯ࠤࠛ࠰ࠖ

ࡌࠤ߿ࠕࠥࠊ ࠎࠦ࠙  ࠰ࠊࠎ ࠖࠨ ࠰ࠏࠧࡶࠤ࠘ࠩ࠰߿ࠐ࠲ࡁ࠰ࠎࠤࡗࡵ࠘࠰ࠎ
 ࠤࡢ࠙ࠑ࠲ ࠰ࠊࠎ ࠰ࠏࡶࠧࠤ࠘ࠩ࠰߿ࠐ࠲ࡁ࠰ࠎࠤࡗࡵ࠘ࠨࠖ ࠊࠦࠉࠏ

 

 

 

 ࡀ࠰ࠄࠓࠕ࡮ࡶ ࡂࠪ࠳ࠊ ࠨ࠘࠮࠰߾࠴ࡵ࠯ࠫࠥ࠱ࠓࠛࡹ࠘ࠨࠧ ࠙ࠪ࠳ࠊ࠰߿ࠊ ߺࠥࡗࡵ࠘ ,ࠕࠨࠌ  = ࠮࠰߾ࠐ࠲࠯ࠤࠛࠎࠤࠆ

ࠨࠔࡂ࠯࠰ࠓ࠴ࠖ ࠮࠰߾ࠐ࠲࠰ࠉࠤࠃ   = ࠕࠨࠌ  ࡀ࠰ࠏࠧࡶࠤ࠘ࠩ࠰߾ࠧࠥࡵࠥ࠘ࠓ ࠨߺࠊ࠰ࠔ࠳ࠖࠛ ࠰߾࠱࠴ࠖ

ࠨࠔࡂ࠯࠰ࠓ࠴ࠖ ࠮࠰߾ࠐ࠲࠰ࠉࠤࠃ = ߺࠥࡗࡵ࠘  ࡀ࠰ࠏࠧࡶࠤ࠘ࠩ࠰߾ࠧࠥࡵࠥ࠘ ࠨߺࠊ࠰ࠔ࠳ࠖࠛ ࠰߾࠱࠴ࠖ

 

 

 



 ࠯ࠤࠕࠊ࠯࠰߾ࠤߺࡤࠩ࠰߿ࠐ࠲

 ࠰ࠄࠋ࠰ࠔߺࠧࠥࡄࠧࠥࠐ࠯ࠤࠐ (ߺ) ࠮࠰߾ࠐ࠲࠯ࠤࠛࠤࠓࠏࠞ

 ࠯࠰߾ࠤ࠱ࠏࠩ࠯ࠦ࠘࠰ࠊ࡮ࡵࡄࡃ (߻)  

 ࡮ࠓࠪ࠳ࠀ (߼)  

�࠰߾ࠏࠨࠊࠛࡹࠧࠥࠋ ࡹࠧࠥ࠘࠮ࠪߺ࠘ࠎࠩ࠰߿ࠐ࠲࠰ࠊࠏ࠲ࠓ ࠮࠰߾ࠀ࠮࠰߾ࠀࠛ ࠰ࠄ࠘ࠖࠩ࠴ࠓࠧࠥࠐ࠯ࠤࠐ ࠮࠰߾ࠤߺࡤࠩ࠯ࠣࠏ (࠸) ࠯࠰߾ࠤߺࡤࠩࠛࠝ
 ࠰ࠄ࠘࠯ࠤࠕࠊ࠯࠰߾ࠤߺࡤࠩ࠰߿ࠐ࠲

 ࠰ࠔߺࠧࠥࠤ࠘ࠩ߿࠰ߺࠧࠥࠑ࠯࠰ࠓ࠵ (ߺ) 

 ࠰ߺࠣࠏࠩ࠯࠰߾ࠣ߻ࠩࠤ࠴ࡵ (߻) 

 ࠰ࠊࠥ߿ (߼) 

࠘࠰߾࠵ ࡁ࠰ࠔࠧࠥߺࠤ࡜ࡵ߻ ࠮࠰߾ࠤߺࡤࠩ࠯ࠣࠏ (࠸) ࠯࠰߾ࠤߺࡤࠩࠛࠝ ࠳ߺࠋ࠰ߺ �࠮࠰߾ࠀ࠮࠰߾ࠀࠛ ࠰ࠄ࠘࠯࠰߾ࠣࠏࠩࠛ࠰ࠏࠧࡶ࠰ߺ࠘࠰
 ࡀ࠰ࠄ࠘ࠥ࠴ࠕ࠰ߺ࠱࠴ࠖࡅࠏࠩ࠰߿ࠐ࠲

 ࠤࠒࠩ࠘࡮ࠓ࠰߿ࠐ࠲

࠳ߺࠋࠖࠩ࠰߾࠵ ࠤ࠴ࠓࠤࠒࠩ࠘࡮ࠓ࠰߿ࠐ࠲ ࠥࠋ ࠮࠰߾ࠀ࠮࠰߾ࠀࠛ ࡁ࠰ࠏࠕࠛࠤࠕ࠰߾࠵ ࠰ࠄ࠘ࡹࠧࠥࠊࠖࠩ࠰ �࠰߿࠘ࠛ࠰߿࠘ࠛ ࠰ߺ࠱࠴ࠖ
 ࡀ࠰ࠄ࠘ࠥࠧࠖࠧࠥࠀࠧ ࠥߺ࠯࠰߾߻࠲ࠎࠩࡅࠏࠩ࠰߿ࠐ࠲

 

࠱ࠏ  ࠯ࠤࠕࠊ࠯࠰߾ࠤߺࡤࠩ࠰ߺ

࠳ࠋࠖࠩ�(߼) ࠥ࠴ࠕࠓ࠯࠰ࠄࠖ࠯࠰߾ࠤ࠱ࠏࠩ࠯ࠦ࠘࠰ࠊ࡮ࡵ ࡄࡃ (߻) ࠥ࠴ࠕࠓ࠯࠰ࠄࠖࠧࠥࠐ࠯ࠤࠐ (ߺ) ࠮࠰߾ࠐ࠲࠯ࠤࠛࠤࠓࠏࠞ  ࠰߾ࠤࠛࠩ࠰ߺ
࠳ߺࠋࠓ ࠰ࠄ࠘ࠖࠩ�࠴ࠓࠧࠥࠐ࠯ࠤࠐ ࠰߾࠱࠴ࠖࠥ࠴ࠕࠓ ࠯ࠣࠏ (࠸) ࠯࠰߾ࠤߺࡤࠩࠛࠝ ࠥ࠴ࠕࠓ࠯࠰ࠄࠖ࡮ࠓࠪ࠳ࠀ  ࡹࠧࠥ࠘࠮ߺࠪ࠘࠰

 ࠯࠰߾ࠤߺࡤࠩࠛࠝ ࠥ࠴ࠕࠓ࠯࠰ࠄࠖ࠰ࠊࠥ߿ (߼) ࠥ࠴ࠕࠓ࠯࠰ࠄࠖ࠯࠰߾ࠣ߻ࠩࠤ࠴ࡵ (߻) ࠥ࠴ࠕࠓ࠯࠰ࠄࠖ࠰ࠔࠧࠥߺ ࠤ࠘ࠩ߿࠰ߺࠧࠥࠑ࠯࠰ࠓ࠵ (ߺ)
࠳ߺࠋࠖࠩ࠰߾࠵ ࠰߾࠱࠴ࠖࠥ࠴ࠕࠓ ࠯ࠣࠏ (࠸) ࠱ࠏ࠰ߺࠤ࠱ࠏࠩ�ࠪࠒ࠰߾ࡵࠧࠥࡅࠏࠩ࠰߿ࠐ࠲ࠓ ࠰ࠄ࠘࠯࠰߾ࠣࠏࠩࠛ࠰ࠏࠧࡶࠖࠩ࠰  ࡀ࠰ࠄ࠘࠯࠰ࠓࠥ߾ࡥ࠰ࠏࠫ࠱߻ ࠰ߺ

࠱ࠏ  ࠤࠒࠩ࠘࡮ࠓ࠰ߺ

࠳ࠋࠖࠩ࠰߾࠵ ࠤ࠴ࠓࠤࠒࠩ࠘࡮ࠓ࠰ߺ࠱ࠏ �ࠤ࠳߿࠰ࠎࠓ࠲࠰߾࠱ࠖ ࠮࠰߾ࠐ࠲࠯࠰߾ࠕࠥࠋ ࡁ࠰ࠏࠕࠛࠤࠕࠥࠋ ࠰ࠄ࠘ࡹࠊࠧࠥࠖࠩ࠰ߺ
࠱ࠏ࠰ߺࠤ࠱ࠏࠩ ࠳ࠤ࠘࠰ߺ  ࡀ࠰ࠄ࠘ࠧࠥࠖࠧࠥࠀࠧ ࠥߺ࡮ࠓ࠯


